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36.

37.

39.

40.

41.

Fill in the blank

He filed a civil _ against Mr. Chopra
(1) suit (2) suite / (3) apot (4) shout

Choose the alternative which best expresses the meaning of the idiom/phrase given below ;

A storm in a teacup

(1) A great noise

12) A danger signal

(3) Much excitement over something trivial
(4)  An unexpected event,

In the following question some part of the sentence may have errors. Find out which part of
the sentence has an error and select the appropriate option. If the sentence is free from
error, select ‘No error’.

One of the student / attended / the international seminar held in Dubai / No error
a b C d

(1)  a - One of the student

(2) b- attended

(3) ¢ - the international seminar held in Dubai.
(4) d- Noerror

Fill in the blank

It was warm, so 1 my jacket
(1) took out (2) took of
(3) took off (4) took away

Fill in the blank with the most appropriate alternative

Many accidents by dangerous driving.
(1) is caused (2) have caused
(3) are caused i(4) has been caused

Choose the right question tag for the given sentence

Kumar hardly attends functions, 7
(1) doesn't he (2) didn’t he
(3) does he (4) did he
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¢ Filln the blanks :

The receptionist the information desk was both smart f‘)__ polite

(11 n, but (2) at, and /

3)  at, but i4) within. although

43. For a professional sportsperson, fitness is a must

("hoose the correct question tag fur the gj\"_nn slatement

17 lsn't he? (2) Ien't 1t”
(3 Doesn't 11? 4) Mustn't 1t?

#. Change the following statement to Reported Speech
Hamu smid, "My classmate wrote a letter to the Mimster ™ \/
'1' Ramu said that his classmate had written a letter to the Minister
21 Hamu smid that my classmate has written a letter to the Mimister
1 Ramu said that his clagamate was writing o letter to the Minister.
(41 Ramu said his classmate had wrote a letter to the Minister. -

5. Identify the appropriate prefix and fill in the blanks given in the sentence

It 15 very difficult to __ stand the onslaught of terrorist attack

‘1 under (2) with > (3 un (4) inter

. Fill in the blank

_ n big hue and ey, the international airport was finally opened for the public

1" Because

2 Amud
111 Between 7
4 Toward

7. Ful in the blanks

The  announced the  of the sports competition held in the college last week
1" pnnaple, prices _ (2)  pnncipal, pnces
I/ principal, prizes «~ (4)  principle, prizes

m'uMWMIMWﬂ.qV
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Choose the description which descnbes the given word most appropriately
Exodus

(1) Movement of very few people from one place to another

(2)  Large scale departure of people from one place to another. ¢
(3)  Expulsion of people from a country

(4)  Arrival of a large group of foreigmers to a country

49. Fill in the blanks.

Her work as a translator underscores her commitment _

___ cultural dialogue. She has
succeeded in bringing European and American sentiments

~ the Indian context

(1)  with, to (2) on, in (3) 1o, iulo/ (4) about, to
Ks
50. Find the correctly spelt word from the following. )
(1)  Supernumarary (2) Supernumerary v {\"J.uy
(3)  Suparnumerary (4)

Supernuameracy L,F,

61. Change the following statement to Reported Speech

The mother smd 1o the son, “I cannot pay you the pocket money.”
(1) The mother told the son that he could not be paid the pocket money

(2)  The mother told the son that she could not pay him the pocket money. /
(3) The mother forbade the son to pay the pocket money

(4) The mother warned the son that she cannot pay him the pocket money.

52. Fill in the blank
The President paused for a moment and then _
(1) pgoeson talking « (2) went on talking

(3) gone on talking (4) goes 1o talking

53. Choose the appropriate option which best expresses the meaning of the given idiom that is
underlined

Whenever I meet him he pulls a long face

(1) looks angry (2) looks cheerful
(3) looks gloomy (4)  looks indifferent

Space for Rough Work / 8233, seadf 8, AV
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54. Identify the appropriate phrasal verb to fill iy, the blank 1n the given sentence.
You are walking too fast I can't __ vou
‘.1 ) keepupwith (2)  keep up from
(31 keepup (4)  keep up o
55. In t_h“ following question, choose from the given words below the two sentences, that word
which Ihns _'*h"' same meaning and can be used in the same context as the part given
underlined 1n both the sentences :
I Avinash was the first suspect in that case
I1. The driver decided to tune the engine before going to sleep that day.
(1)  major (2) suffer (3) counter . (4) prime
56. Match the items in List I with their definitions in List 11.
List ] List 1
a A dermatologist 18 a disease which causes loss of memory
b A thermometer is an animal which lives both on land and 1n water Y
C. Amnesia 18 p an imstrument which measures temperature " (47
d  Anamphibianis v, adoctor who treats skin discases o
(1) a-ii, beiii, civ, d- (2)  a-iv, b, e, deii 7
(3)  a-1, bav, cn, d-m (4) a-in, bav, e, da
57. In the following question, there are six sentences marked S,, S, P, Q. R, S The positions
of S, and Sg are fixed You are required to choose one of the four alternatives which would
be the most logical sequence of the sentences in the passage.
S, Ram Mohan Roy was associated with several newspapers
P: Many educationists protested vigorously against these measures. »
Q- But this came to grief soon after the enactment 1n 1823 of new measures for the
control of the press
R He brought out a bilingual, Bengali-English magazine. \ |
§. Later, desiring an all-India arculation, he published a weekly in P(_'r!mn, which was
recognised then as the language of the cultured classes all over India. N\«
S, Ram Mohan Roy petitioned the King-in-Council in England 2 S
(1) QPRS (2 RQPS ., (3 RSPQ 4 RSQP o
space for Rough Work / Bu53, seabrd, YV
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58.

69.

61.

Choose the correct answer of the following simple sentence after its transformation to
compound sentence

Besides robbing the poor child, he also murdered her

(1) He robbed the child, he murdered her.

(2)  He not only robbed the poor child but also murdered her v

(3)  Besides he murdered the poor child, he also robbed her.
(4)  None of the nbove

Match the following

a. Fond 1L on

b Depend . - " with

c Angry . _ ) o

d Complain -~ | v, of

(1) a1, bu, ccm, dav 12)  a-mi, bav, ci, d-i
(3)  aav, ban, ¢, dn (4) a-iv, b, cii, d-iii of

Name the Relative pronoun in the sentence given below :
1, who am vour king, will lead you
(11 (2) who (3) your (4) you

In the following question, o paragraph or a sentence has been broken up into different
parts. The parts have been scrambled and numbered as given below. Choose the correct
order of these parts from the given alternatives
a it is of vitnl importance ¥
b. if this cannot be prevented
c Since man depends for his food U
upon articles
e that none of this soil should be wasted %
f produced from the earth’s layer of fertile soil v

(1) c abdfle
2) caedfb~
3) cdfaceb
(4) ¢ e,abld

Space for Rough Work / Bty seabfd, i"‘w
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Directions : In the following passage there arc blanks, ench of which has been numbered
These numbers are pninted below the passage and agminst each, some words are suggested,

one of which fits the blank appropriately. Find out the appropnate words [Refer the same
paragraph gven below for questions no. 62 1o 63

Women have  (62) made _ (63)  in the corporate workplace but certainly not ns much

as they had expected We have new laws, pyle- and (64)  relating to women in the

workplace but what we have not changed much 1« the male _(65)

(11 perhaps (2 seldom - (3)  optimistically (4) undoubtedly v
11 progress . (21 efforns (3)  attempts o v (4) decisions

(11 activities 12) cases (3 pohces - (4) problems

11 hatred . (21 patterns (3 achievements (41 behaviour \/

ick out the opposite meaning or antonym of the word given below
Prl'lfrl rRSr
7,

1" Processor 12 Compressor

(3 Successor |/ 4 Oppressor

Choose the misspelt word

i1y Chrveanthemum . ()] (hastisement

1 Conflagration , (4 Constelation,

Owut of the four alternatives, chouse the one which can be substituted for the given words
The period betuwen tuo regns

1" Ern (2
i3 Anachromsm 4

Intermission
Interregnum

Choose the most appropriate meaning of the word from among the four options
SASUCious

11 Sensible (2 Spontancous

i Dscaplined (4 Helpful

Choose the nght waord to fill the hlank

Transfer the Liquid into the vessel using a

1 Ciphon 2 Saphon ‘3 Sciphan L1 Siphdn
—a —

Space for Rough Work | 8153 B3alrd v

VAD27T10P7224 (15-B4)



7l.

72.

73.

74.

Select the correct statement

a. Valid numbers 1n binary number system are ‘0’ and ‘1’ /
b Hexadeaimal number svstem does not use the letter ‘F°
C Octal number system has base 8/
d ABCZHY 1= a valid hexadecimal number. <
{1 aand bonly (2) b and d only
31 aandd only 4) a and c only | /
Match the following List 1 and List 11
List | List 1]
Lavers Packet Names
a Application Layer 1. Bits
b Transport Laver 1 Message
C Network Laver im  Frame
d Data Link Layer v SegmentUser datagram
e Phy=ical Layer v.  Datagram
(1) a-m, bav, ev, da. en - (2) a-il, bav, c-v, d-ui, e
(30 a-1, by, civ, dai ey (4) a-iv, b1, ¢, d-m, e-v
i \
First Name Middle Name Last Name
“Name~ attribute in the above is an example for __ type of attnbute in database table
11y Simple (2) Composite
3 Multuvalued (41 Denved

Find the deaimal equivalent of the octal number | 127 541,

(1) (194 6489),, (2) 1876875,

(3) 191 4956),, (4) (85 14591,
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71, KOs TesAvAY, rbchdd
a. U0 Jowd ZAFab 0" DA ‘1" wosry) dred TN
b Fem B HowDt LI 'F e, sudalorA BBy
¢ w8er Fowck d3ab et (Base) 8 shchar
d ABCZHO Lot drm, 2es dacher douet ehd

(1) a3 bang (2) b oo d &5,
(3) ad®dadng (4)  achd)cdnd,
72. 8VAR 34 1 X 34 11 b, #Beod :
a1 a1
Jeaboril Ty, S BT
a. BB Jeabot i O
b e Jeeess Jeabot i, e
¢ RAust Jeabos i Jeas
d. deww Ooz* Jealof v Arfdbou/aliesicr e (Segment/User datagram)
e S8 Jeabot v, ceermedsf (Datagram)
(1) a-ii, bav, c-v, da, en (2) a-n, bav, cved-m, e
(3) a-i, b-m, cav, du, ev (4) pav, b, e, dan, e-v
73.
dedu @TD XA B dadob BAD
& DO cmmaidr!&hﬂ Bod oowd cid 2080 edug L’ aﬁd ?
(1) dozef (2)  ssoddeeds
(3)  DOTURE (4) adzf
74. (127.54)4 48¢F Josh,ab BRIV Adreodd Toal, arech ?
(1) (94.6489),, (2)  (B7.6875),
(3)  (914956);, (4)  (BB.1459),,
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75.

76.

717.

8.

Arrange the following in their speed of access from fastest to the slowest

RAM, Regsters, Secondary storage, Cache

(1)
(2)
(3)
(4)

With respect to Interpreter, which of the following sentences are “True”

.
b
c
d
(1)
(3)

Registers -» Cache » RAM - Secondary storage
RAM — Cache —» Registers - Secondary storage <
Secondary storage — Registers — Cache — RAM

Cache —» Registers — Secondary storage —» RAM

2

Interpreter translates high language to machine language

Interpreter translates one sentence at a time. &(

Interpreter does not execute a sentence immediately nfter the translation. o |
Interpreter translates entire program into object program at once.

a and b are true (2) a and c are true

a, b and ¢ are true (4) ¢ and d are true

Match the type of tool with their example

a
b
C

d

(1
(3)

Remote wurkl‘ur}( } Adobe Sign
e-signature 1 Google Dnive

Security T . AWS Cloud
Cloud computing v Kah Linux
a-1, bl c-im, d-w 12) a-1v, b, c-n, d-
a-ni. b, civ, dom & (4)  aui, bav, en, da

Expand EDVAC

(1)
(2)
(3)
(4)

Electronic Discrete Variable Automatic Computer

Electronic Discrete Volatile Automatic Computer v

Electronic Duplex Varable Automatic Computer

Electrome Duplex Volatile Arithmetic Computer
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75. o83 drdd JriS, 30D & BVAIGRve e deribod @30odd. AR rdab sdr
el F
RAM, 8230 , ¥8odd A tdef, 53,4 '
(1) BaIT - i:‘add' -» RAM - I8cad Ap edef
(2)  RAM — 53¢ - 02x T - d8odd alp edes
(3)  Xgodd ’nede » DAY - 53,8 -+ RAM

(4) 53,7 - 02Y T - FBodb e tdef -+ RAM

76. @owd o dowohddod 8 BVAR alred Bevdrivb ROaiNE ?
a  @owctduon B, usor e dod DA vyort eefri PeEwodd BbId
b moucfduo woth webrt wode 8 aRy weavodd dndbdd
¢ RO BT YRGE03d dRbd Bedde IR o8 e dndgby
d  eowcfducr dogenr deermor wodt wmdrt uulst deemor Sba33rabId.
(1) a3 b IBdHS (2) o@D c WdaHT

(3 a, bR c IBARHT (4) ¢ &b d JABcdRhZ

77. & 8VAS it alpechednf Luedf & IP3, orY vumadddeodr Be0bd w3dLD :

a  Blees Sefrdeedtr i odeer A

b @ Ao i reref B,

¢ by i AWS &

d. o Bozpdort v, 590 U3

(1) a-, b, c-m, d-iv (2)  aav, b, oo, da
(3) a-i1, b, civ, d-i (4) a-ni, bav, e, d

78. EDVAC 3 983 ded:

(1) aUm’au' E!fb?eu‘ Hedobuer uuletdbls Bode Lot
(2)  oUes,def B, e deoed aalpechds’ Bode, Lot
(3) oda‘agrau" e’ HeBabweF sulpezds Boge,uot
(4) adm_’au‘ et deodd f vgrehls’ Bode,Lo*
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79.

B1.

B2.

Based on the “access time”, arrange the following in ascending order
a SSD ~ ™~

b HDD W

c Main Memory 4 ~ ke

d Cache Memory ~ \

(1) d,b,c,a (2) a, b cd

(3 d,c a, b \/ i4) c.d.a,hv/

Which of the following is true with respect to Read Only Memory (ROM) ?

Data stored in ROM and PROM chip cannot be altered by user. v
A user can erase data from EPROM. ot
c. EEPROM iz also known as flash memory

o

d In EEPROM data cannot be erased. <

1) o and c are correct
(2)  Only bs correct
131 candd are correct

i4) n, band ¢ are correct

The core of an Operating System (0S) 15 known as
(1) Shell

(2)  Kernel

o MS-DOS

14y Console

In an E-R diagram double lines indicate
(1) Cardinahty

(2)  Total participation

(30 Muluple participation

i4) Single participation
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79, 08T J,dF ugedd died BVASZPIAVA 0bs Fatala) 2B wddbd .
n X OrF B

b nran

¢ Der DHAD

d. &7 Dded

(1) d, b,e¢,n (2)

a, b cd

(3 d,c,a, b (4) ¢,d ab

80. Oec¥ L Dded (ROM) 1 BowoBABod, e BVASINVO ang)d) AbadnRhd ?

a ROM db® PROM a2 39 deaddund dewsdd), wousdbdw aegdo.
b, EPROM 3¢ deaddund denddl wvdoed 0fdssw g dd.

¢ EEPROM & @y & Ddabd oodh 8dalnad

d EEPROM J90 deaddond dewndd) o9dbzedw Tegdu.

(1) n & c WIOAI

(2) b dred, KOalAd

(3 ¢ DR d WO

(4)  a, b c IOAINT

81. eoddedor? AMdr (0S) J At oodderd ?

(1 des

(2) BJ3rs

(3 cood-ouxf
(4) doxges

82. E-R daemadf 30 oo Hdreeodd dealrivh &3 adedahdes 2
(1) eelrmedl
(2)  deewes ool Adedss
(3) DO gudrddedd
(4)  Aorif gwirAhdedy
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83. Select the correct statement/statements

a Microsoft Edge, Safari. Adobe Flazh, Google Chrome are examples of browsers -~
h. Mbps stands for Mega bytes per sccond and MBps stands for Mega bits per second ¥
¢ 2 GB = 1024 MB X

d Ubuntu, Red Hat Enterprnise Linux, and Windows XP are examples of Operating
Systems.

(1) aonly (2) b and d only

(3)  aandconly (4 d only

84. Section 65 of IT Act 2000 deals with
(1) Tamperning with documents
(2 Hacking
(3)  Acts of cyber terrorism

(4) Using other person’s email 1D~

85. Match the following List I and Last 11
List ] List 11

a Auxihary memor} EEPROM

b.  Impact printer Laser Printer

c Flash memory Dot Matnix Printer
d. Non-impact printer v HDD
(1) a-i, bii, civ, du¥ (2)  aiv, b, e, doni

(3)  a-iv, b, ¢, dn (4) a-1. b-i, cav, d-m ¥

86. State whether the following statements are True or False with respect to Database -

a A view is a single table that s derived from other tables

b.  Data in views are always physically stored. ¥
(1) a-True, b-True (2) a — True, b - False v’
(3) a- False, b- True (4) a - False, b - False
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83. TOURG BeOL/ReBrivay sal 38 -

| a. DETRT, oF. IO, edenr g e dadf ePnw BRI R
CUTRECENVIA3
b. Mbps 0odd 2brm U0 30° B8ocf 2bd MBps 0odid 2 Oux, 30f Jdocs

C 2GB=1024 MB
d Lo, O &, oo d, Jxf 05 X Jodeex* XP agrivh eddedorf QAIJ3F v

SiUart.Jol-1gl"y
(1) adng (2)  badddng
(3)  adDAcdng 4 ddneg

B4. IT Act 2000 JEF 65 &+ 8VAS adegdd, dowedd ?
(1) oeEahow ed) w030 dArnddcd
(2) ZT g
3 N;uo' Jmma?__dm %a&ﬁ\b
(4)  tecdon) 0 wcbees ID &) susaleeAbIHD

85. &VAY 3U 1 ® U 11 od) Beodd

e 1 au

a. ©3dob IR0 i EEPROM

b Qoéiiq S oot . eI Soucs

¢ T DD i oo s douos

d T -woTe s Soud .  HDD

(1) a-1, b, cav, den (2) a-wv, b, c-1, d-inn

(30 aav, b-in, ¢4, den 4 a1, b, cav, dem

86, mairaleTr HonoAld B BYAS Zevdrivd AR T angah 3 oot A3

a8 e cowr eued Uenes el 8Y,T ARAUNAY Lo e A
b, I, ROLI DEoBrivy BT 38T BoribTy Jazd
(1l a-70b-x8 (2 :1—.«“;'5_[;_34._
(3) a-3F.b-x0 4 a-3Z.b-3gy
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192.168.0 397 is an invalid [P address because:

n It starts with 192
b. It has 0O <
c It has a number less than 500

d. Any octal number cannot be more than 255
Choose the correct answer from the following codes
(1) Onlyd

(2) Onlyc

(3)  aandbonly

(4) aanddonly

88. In Microsoft Windows the file names may contain maximum up to characters.
(1) 199
(2) 2bH4
(3) 255
4) 234
89. A inthe network security takes place when one entity pretends to be a different
entity
(1) Replay

(2)  Modification of messages
(3) Masquerade

(4) Demal of service

e
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H7. 192 16K 0 397 35T 0 2 odosd
" 192 Bors wct; rerva?
b od dvemcd 0 o
¢ LoD Toul, 5N Ao sAL oot
d Trecle sses (octal Lokl odu 258 408 sy, “rreot
& BVAL salyn0or Bl Lty hald
1) ddns
12) cans
3 azbxb drex
4) azaddres
88. D derxed Joder JomuoBdl I, SO oL a3 s[ye o
1 199
12, 254
13y 255
4) 234
89, urdet Rfu.q,bﬁohq Lodh ooty wrlg o codBalsh I3 Ao
(1 63
(2)  detdgerxr u DIJsf
(3)  dnd, de?
(4) BXreaber uF JIFTF
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90.

ICs with VL.S] technology are used 1n _

(1) Second Generation Computers (2) Third Generation Computers
(3)  Fourth Generation Computers + (4) Fifth Generation Computers
91. Select the incorrect statement/statements :
a. Firewall and antivirus are same. /2
b Firewall acts as a barrier between the computer and Internet traffic >
¢.  Antivirus is designed to detect malicious software _
d  Firewall and antivirus can be combined to offer robust protection against cyber attacks
(1) Onlyd (2) Onlyc /
(3) aandbonly (4) Onlya
92. The NIC - Network Interface Card is a hardware device which o
(1) stores the IP addresses
(2) connects a computer to a network, both functionally and physically
(3) stores the 1P addresses of the computers in LAN
(4) acts like a firewall
93. Maich the following :
a. Linker i. A software which places the object code from secondary
memory into main memory
b.  Loader ii A program that translates high-level source code into
/ machine code
/
c.  Compiler / iii. A software which links modules or program segments
/ together
d Interpreter iv. A program that translates an instruction of high-level
program and executes 1t immediately before translating
next instruction
(n a-iii, b-1, c-ii, d-1v (2) a-i, b-11, c-1, d-1v
(3)  a-n, b-iii, c-iv, d-1 (4)  a-iii, bei, civ, d-ii
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90. VLS 30333 abd 0 & v 30 wvroAd

(1)
(3)

QOGN dewr! ipdabod,riv (2) Swdde devrt Nnsabodrisy
o0, Je 2evr! Mnsabod i (4) o0 devrt Nnsabod v

91. 3T 0 Bevd/Be0B3rivh b3y

a Firewall 203 Antivirus wode 303ad) drnaad
b Bodpuot ) eodmeruny Iwd Firewall 3d recdaded seabr A3F a3
¢ Antivirus 803900 JODT malicious software Jod BoFe, LT O, J3DIL
d. Firewall @3 antivirus &) we cvaaleeAd cvber attack fvod g, 088 Sdabuabah.
(1) dadng (20 cadng
(3) a X b and (4) a 33,
92. NIC - Furde’s Rowo'Jexf sedra) __ MM wvdurbdd
(1 0 IveArvah deadiw
(2) BoZRuot Iur3sr o) a3 BN Farle LP38aN Joddr b3
(3) U (LAN) 0bd © & IveanvRY deadw
(4) oo Ded sabr ATrbIw

93. 200Bd Lddd

b

d

Qoo i eyl deedd) F8o00 Ddeeddbor S0 biteedrt Irrdbabd
JoZ307

deedor i &, Jdor Aeedfr detf o A U deeefr SOTIrab
ToZ90B/IRLM0

god, i, decyerriv oTT Jeerme BBBAVAY Kerdabd Jozeod

TOUTALT v, B,USf BetdF B 6, A I pedrt o Ted, woth
Do SBTIFd. © TGS, d da LF dBd Fo30 AwodN T, 3
2033 abd JoI30T
a-m, b, c-n, dav (2 a-ul, by e, dey

a-n, b, cav, da 4 a-m, ba, cav, den

VAO2710P224
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94. Which function is used to enter the current time in a worksheet cell?
(1) =Todayl()
(2)  =Nowl()
(3)  =Timel)

(4) =CurrentTime()
/

95. Word Processor is an example for

(1) Hardware
(2) Application Software W

(3) Firmware

(4) System Software

96. Choose the advantages offered by digital signature.

a. Identifies the signatory
b.  Maintains integrity of signed data v~
c Prevents forgery or impersonation /

d.  Encrypts the data v

Choose the correct answer from the following codes -
(1) bandconly
(2) aandbonly
(3) Onlyd +

(4) a,bandc
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94.

95,

Betr betr FerFO & BVAR aired TOBT 20 & Fro Babdd, IdwebrwED ?

(1)  =Today()

(2) =Nowl)

(3)  =Timel)

(4) =CurrentTimel)

S SR,AX0 e BYA alngd, suoeadd ?
(1) dFrdecs

(2) odBeasr agdeo

(3) obrdec

(4) .{;Rgp m%dco‘

Digital signature Jo0 erbd aalea3nva edd.

a. Signatory o) 3 FPwach

b.  Sign 3rAd detncd wBvad dredudod W30 SBIBLYLED
c 8w (Forgery) 2@ Impersonation orl) 3driuwa

d.  dexd, Encrypt dndwad

& VAR eal10on BOaiRG sugdaRy b3’ :

(1) babdcdng,

(2) azbhabdng

3) dang :

(4) a, babhd c
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97. __ IP addresses use 8 bits for network and 24 bits for host.
(1) Class A (2) Class B
(3 Class C (4) Class D

B8, Which layer functions as the Dialog Control and Synchronization in OSI model ?
(1' Presentation layer (2) Network layer

(3 Session layer (4) Data link laver

99. Match the following

n First Normal Form i Full Functional Dependency

b Second Normal Form 11 Atomiaity

c Third Normal Form 11 Non-trivial Functional Dependency
d BOCNF v, Transitive Dependency

(10 @, b, cav, dn / (21 a-1, b-i, cav, d-in

3 o, b, ooy, day (4 a-u1, b, cav, da

100. Match the following List I and Last 1]

Last ] List 11
n (‘o axial cable 1 (CCable covered with metal fogl
b Unshielded twisted pair cable 11 Cable uses copper wire
« Optical fiber cable . RJ45 connector
d Shielded twisted |mlkw Transmits Data in the form of light
(1 a-n, ban, cav, da \/ (2 a-ul, b, o, dav
(4 a-n, b, ca, day (4 aav, ban, cou, day
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97.
1 o
(3) =3
98.
drcbad ?
(1) Sodea Jeal!

(3) I Jeabr

99. 2508 LoD

n S Tebref Tedo 1

b Jdood T Tedo 1]
c SofF b 0o i
d 0 o o v
(1 @, b, cav, d-n

(3 aa, b-u c-m, d-iv

100, #vAZ 22 T x 24 1l o1 0B
et

a Aor el gl s depes

h ol Qo Zecf derw s
[y 5{1‘5{.‘-‘ I.:'Ld 5”—-‘@‘

d 5'!.:1 A Dok ey o8

i1r a-n, bu, eav, d
i a-n, b e don

L oY O drcdad & VAR ded Jealor dyue sSoudgeef Db Lodsed Pedss

S IP SveRrisl FramR 8 Durfriv) o eedfmA 24 DUrvah wvabad

(2
(4

dudD

Surde’s Jealo
e Qo Jealof

(2
(4)

e+ JogRer AZod
el
T Ldaler Jogkes BZodd

T B BZod
(2 a-n, b1, cav, d-in
(4) a-m, b-nn. cav, da
ad 1l
i Beue B30 O s TS

. RJ4S g3d o

——y N

- BN -.\3‘ f

v, UVAT dedzd) deur,

b-1,

b-i, c-11,

12 a-it,

4 a-1v,

con, d-n

d-
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